P97 an "7 'on 2,3 n"a .7"0a

Why is it so by 15, — 9910 27TV RN J27P 127 Jow Db N
because 15 obligates him in a 329?; can you say so by 237y, etc.

OVERVIEW

Initially there is a 1" that if 1°® which is (weaker than 0°79, for it is) not 2°1n
0ip and nevertheless it is 7¥12w 2°°1n, then 0°7v which is (stronger than 15,
for it 1s) 01p 217 should certainly be 712w 2171, The X723 attempts to refute
this 1" by proving that 10 (concerning a j27p) is stronger than 2°7v; for 19 is
21 a 127p, while 2°7¥ cannot be 211 a 1272. Our Mo clarifies in which
circumstances is 211 10 a 127 and (correspondingly) 2°7¥ are not 2172 a
127p.

— N YNNI D311 1IN 12957 129911 1Y ‘e
The explanation of the refutation (2°7v2 980 "1 1% 1n) is that 1o indeed

obligates himself to bring a 3299 even if the witnesses contradict him -
— 21w XN 119 250 IND DI9INY

And testify that it was not suet which you ate but rather fat.

mooIn explains that it is necessary to understand that 1272 1217 1°9 is [even] discussing a
case where 0°7v contradict him -
— 15 DY IR NINP 235N NN PYININ DITYN PPN INT

For if the X27° of 127p 12>n 10w 1992 71 is discussing only a case where the
2°7» do not contradict him; how can the X713 conclude the X275 by saying
"2 297w3 %KD (can you say the same by 237y, etc.), for indeed we can say -
—3)U5N91 139X BN 13957 1N 192511 1) DY
That 27 also obligate him to bring a 3297 if he does not contradict

them; in fact -

— 1297 129N WINM 19N DN THN 1Y 1999N)
Even an X'y obligates him to bring a 3297 if he does not contradict the x"v.
Therefore (since we assume that 19 is 217 a 1279 and 2°7¥ [in similar circumstances] are
not 2»n»n a j27p), we must assume that 10 is 2 a j277 even when he contradicts the

" The word "w1®' is used in Moo when he is negating another (simpler) explanation. Superficially one
may assume that 127 121 10 means that 12 is 2°n» a 127 when there are no contradictory 0°7y. [See
footnote # 7 that N1©01N (may be using the term 170 to show that he) disagrees with >"w70.]

2 957 refers to the forbidden fat in an animal (around the kidneys, etc) which is called suet, while 1w refers
to the permitted fat (which is attached to the meat).

3 If o»7v testify that he ate 257 and he does not contradict them; he is required to bring a 721p, and the same
applies if an X" testified that he ate 2517 as NN continues.
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*0°79: however 07V cannot be 2»mn a 1277 when he contradicts the o7.° Otherwise if we
would assume that 1D is 21 a j27p only when he is not contradicting 27y, then 07¥
obviously are also 21 him a 7277 when he does not contradict them, so what is the X370
of 121 0>7v2a RN "1 1Y n.

mooIn continues with the consequence of his w17a:
— (0w 8,2 97 M) 99 YN P99 NIWIY 9290 NINDN NN

And this X°30 (which refutes the 1"p from 1°9, with the 8270 of 2w 9% n

"1 2°7¥2 WARN 127P 127°nn) agrees with the opinion in W9 12K p5 -
— 91097 SNYIN XY 9MIN NINI ATN NYIN 1Y 19IRT 19PDT 19297 1NNV WI9NT

Who explain the reason of the 3139 who are cited shortly, and maintain

that if 07y said to him, you ate 2517 and he says, I did not eat; he is 21D

from a 129p. This W5 explains that he is 7> -
— TR AN AN 1I8Y 5Y 1IN DINT DIUN

because a person is believed, concerning himself, more than a hundred

people. Therefore if he claims that he is not obligated to bring a 727p, he is believed.
Based on that X773 we can surmise that conversely when he says he is obligated to bring a
1297 and the 0°7¥ contradict him, he brings a 727p.

— YN PYINIMN DY IDIAN 129D 122901 199 T
And therefore, in conclusion; 132 obligates him with a 139p9; even if 237v
contradict him and testify that he did not eat 2511 -

— VYN ON 1297 NN 122NN 1PN 0T

However 2°7¥ do not obligate him with a 3297 if he contradicts them and
claims I did not eat 2% [at all]. This is in accordance with the X370 in our X773,

mooIN explains that we must assume that our &°210 follows the aforementioned 1w%:
— 11599257 NINNT 19297 1D1NYV YINT NIV TTINIT

For according to the other 1>, which interprets the reason of the 312
that he is 127pPn 7D is, for we interpret his statement; that when he said x>

* He claims he ate 2511 and the 07y claim he did not eat 251 (rather he ate 1W).

> The o*7v claim he ate 251 and he claims he did not eat 251 (rather he ate 12W).

% Our X1 (shortly) cites a mwn in which the 251 maintain that if two 07y testify that he ate 2211 and he
claims ‘I did not eat’, he is not obligated to bring a 7279 (while "7 maintains that his is 7272 2°7n). The
X773 in Mn>3 offers two explanations for the view of the oom. One is that we interpret his >n%3x8 X7 (not to
contradict the 0’7y, but) to mean, I did not eat it A w2 but rather 7°7m2, which exempts him from a j27p. The
other explanation is that a person (concerning bringing his own 727p) is believed more than 07y 7X».

7 From &1 7"7 *"w1 it seems that *"wA maintains that our X3 is according to the X% of [[112°7 ynn],
1wn. It would seem therefore that if he claims *n?ok and the o7y testify that he did not eat; he would not be
believed since he has no 1»» (and we can’t be 7°112°7 y7n»). Our ndOIN disagrees with *"w7's (see footnote
#1). See also ax n 1"7 'on.

¥ See “Thinking it over’ # 1.
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"N95X he meant -
— P NIN MY INYIN XYT 99N

To say, I did not eat the 332 2717 but rather I ate it 7922,

According to this W% we are required to add -
— Nyt 790 IO N 1DTA NY INYIN NI 9MINYIT 39951

That the situation is that when he said "n®>X X» we did not cross-

examine him immediately what his intent was (whether he meant 793 *n%3x8 X
or 7T KPR AW °N7OK RY), that is why he is 127pn W5,

mooIn continues that according to this WY, he is believed only because we interpret his
words as to not contradict the 2>7y -
— JANI 1N DYTYN YININY YaN

However he is not believed to contradict the 2%7¥. Our X310 cannot follow this
1w for -
—JUINM 1PN 1397 1IN 19V 1913 D1 ¥39UN 3 ON

According to this W% we see that 2>ty are superior to 15, for the o7y

can be 2> him a 3399 even if he contradicts them and says %> *n%ox X7 -
=N PYININ 1N ON 1299 1KY 2NN NY N

However, he cannot be 21 himself a 329p if the 0°7Y contradicted him.

mooIn concludes that according to the 'R1w% 77K’ that 0*7v are stronger than 1°9 -
12:13299 19298 NN 929 SNNY

Then 1''1 can even follow the view of the 3329, for we cannot refute the 1"p; we
do not find that 1 is stronger than 2>7¥ (only that 15 is weaker than 2°7v).

SUMMARY

Our %20 follows the 1w that the 0°non exempt him from a j27p because
VIR 1RHH N Y'Y 781 078 and we believe 1°® more than 2>7¥ both to be 2
a 7279 and to exempt from bringing a 7277. Therefore 1" is stronger than
0>7v. However according to the X1w°% 77X that we are 77°112°7 ynn, then 07y
is stronger than 15 (when they contradict each other), and 1"7 can agree with
the o°nom.

? For if we asked him immediately what he means by *n72x > and he would have answered %3 "n72% X2 we
would not believe him (according to this X% 77°R) and we would obligate him to bring a j27p. However,
since we asked him later, then it is irrelevant how he explains himself, because M2°7 >75 K> we are not
obligated to accept whatever he tells us. Therefore we can interpret his *n%38 X? to mean 3w *n7oX X°.

01t is not necessary (according to this X% 77°R) to maintain that 7°2 X7°20 "3 1" in order not to refute
the 1"'p, for the 1127 also agree that 2>7¥ is stronger than 5. See ‘Thinking it over’ # 2.
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THINKING IT OVER

1. moon states (based on the first WY in MN»D) that if he claims he is
obligated to bring a 1277 and the 2°7¥ contradict him, nevertheless he is
obligated to bring a 127p."" Seemingly how can he bring a j27p if 27y
contradict him; he may be bringing 77192 1711, and there is even a greater
difficulty how the 0°175 can offer his 1277, they could be transgressing the
MoX of Ty .

2. m»ooIn states that according to the X% 77°K (which maintains the reason
of 7127 yann) n"'1 can agree with the 0m>m, for according to this view 27V
1s stronger than 19, and therefore the "' cannot be refuted."® If this is indeed
so, then why does the X773 answer that 1" agrees with n"9, the X713 should
have answered that 1" follows the X% 77X, and the 1"p cannot be
refuted?!™

' See footnote # 8.

12 See n"m and W-7y MK >0

13 See footnote # 10.

14 See X"wArn on X 7 7"7 '01N and 71"HX #185.

4

TosfosInEnglish.com



